Ruestion 5

A note with this question. This scenario puts us in the southern hemisphere. For those
that aren't used to it, it's very easy to constantly make ervors with the latitude scale.
Those of us from the northern hemisphere are used to the latituoe increasing upwards,
where of course, in the Southern hemisphere this is the opposite. Yow'll notice on the
plotting sheet 've crossed out all the northerly minutes in a bid to reduce these ervors.

(t’s also May with us in the Southern hemisphere (Sun in the northern Hemisphere).
Therefore, the situation will be contrary.
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